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|deas for Debugging

e Check histogram binning for yield calculations
e Check instances of 2.0/x sig=sigT+eps_mod*sigl+eps_mod*cos(2.¥phi)*sigTT
> +sgrit(2.0%eps_mod*(1.+eps _mod))*cos(phi)*siglT
e Checked already and
doesn’t seem to be the sig=sig/2./pi/1.d+06 ldsig/dtdphicm in microbarns/MeV**2/rad
cause sig=sig/2./pi ldsig/dtdphicm in microbarns/GeV**2/rad
e Double (triple) check

x_mod=sig

e Run for very small -t range (~0.1)
o Q@%=3.0, W=3.14, very good statistics in t=0.2-0.3 range

e Triple (quadruple, quintuple) check SIMC vs iterated weight results
Run code with Vijay’s pion settings
e Systematic issue for all data?? -



